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MASS COMMUNICATION AND JOURNALISM
PAPER III

Time Allowed : 2%4 Hours] [Maximum Marks : 150

Note :— This paper contains seventy five (75) multiple choice questions, each question

carrying two (2) marks. Attempt all of them.

1. Indian Express was originally published from :

(A) Bombay ‘ (B) Calcutta
(C) Madras (D) Nagpur
2. Central to the uses and gratifications approach in communication would
be :
(A) Messages (B) Channels
(C) Audiences (D) Encoders
3. Who first described mass media as a culture industry ?
(A) Stuart Hall (B) Theodor Adorno
(C) Stuart Mill (D) Jean Boudrillard
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4, In a case of contempt of Parliament, R:K. Karanjia of the Blitz

7 (. SRR by the Speaker of Lok Sabha.
(A) admonished N (B) imprisoned
(C) excluded (D) reprimanded

5. ‘Bnlightened self-interest’ is the notion behind :
(A) i{isk Management
(B) Event Management
(C) Coroporate social responsibility

(D) Publicity campaigns

6. For Daniel Lerner, exposure to media would energize the process
of s asinmings for development.
(A) Sensitivity (B) Anxiety
(C) Sympathy (D) Empathy

TR.C. : 23/14/ET-1II 4
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10.

Seetion 95 of the Criminal Procedure Code permits a State Government the

forfeiture of :

(A) Offending Publication (B) Security Deposit

(C) Printing Press (D) Journalistic Accreditation
According to Umberto Eco, aberrant decoding takes place in a !
(A) Tribal society : (B) Farming society

(C) Mass society (D) Convergent society

The constitutional restriction on Article 19(1)(a) in the form of public order

falls within the coneentric circle of :

(A) Obscenity (B) Law and order

() Security of State (D) Defamation

Most correlational designs have the problem of manipulating :

(A) Conceptual definitions (B) Control variables

(C) Independent variables (D) Dependent variables

T.B.C. : 23/14ET-11I 6
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11.

12.

13.

14.

Discourse analysis considers all human communication as a :

{A) Content (B) Starting point

(C) Narrative ) (D) Contemplation

Socially and culturally less powerful people are ... s by mass media.
(A)  Supplemented (B) Counselled

(C) Derecognized | (D) Stereotyped

The news agency that has the largest number of foreign correspondents
is :

(A) United Press International (B) Reuters

(C) Associated Press (D) Agence France Presse

In newspapers, news headlines should be written around a strong.........covvines
(A) Adjective (B) Aéverb

(C) Verb (D) Participle

T.B.C. : 23M14/ET-III 8
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15.

16.

17.

18.

The Aristotelian dramatic structure that is generally adopted for feature film
has five phases. The four phases are exposition, rising action, climax and

falling action. The fifth is :

(A) Ending (B) Resolution

(C) Conclusion (D) Recommendation
Semiology uses a microscopic view Of teXtS L0, ceeciirivnsrmransssssanians them.
(A) Construct " (B) Deconstruct

(C) Expand (D) Shorten

A major barrier in the transmission of cognitive data is an individual’s :
(A) Personality (B) Language.

(C) Expectation (D) Status

Democratic-participant theory of media can be implemented only by :

(A) Citizen viewpoints (B) Cultural autonomy

(C) Public administration (D) Decree

T.B.C. : 23/14/ET-III 10
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19. The ethical classification of categorical imperatives was supported by :

(A) Immanuel Kant (B) Lord Bryce
(C) John Locke (D) Karl Marx

20. Who is the author of the book, “Define Advertising Goals for Measured

Advertising Results” ?
(A) David Ogilvy (B) Russell H. Colley
(C) Green Rosenberg (D) Philip Kotler

21. In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

is correct 7

Assertion (A) : The community radio stations are not yielding the kind of

results that the protagonists had expected.

Reason (R) : No feasibility study was done before establishing the community

radio stations.

(A) Both (A) and (R) are true

('B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
T.B.C, : 2314/ET-III 12
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99.  Which one of the following is the most widely used form of mass media in

India ?
(A) Cinema . (B) Newspaper
(C) Television (D) Radio

93.  An extraneous variable that an investigator does not wish to examine in &

study, is also kno’wn as :
(A) Dependent variable (B) Control variable
(C) Systematic variable (D) Cumulative variable
94. The term, Development Support Communication was advocated by :
(A) Paul Streeten (B) E.M. Rogers
(C) Erskine Childers (D) Y.V. Laxmana Rao
95. The term ‘Broadcasting’ was borrowed from :

(A) Radio (B) Television

(C) Agriculture (D) Banking

T.B.C. : 23/14/ET-III 14
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2.

28,

28,

Who coined the term, ‘Pack Journalism’ ?

(A) Timothy Crouse (B) Philip Meyer

() Alan Chakley . (D) Jay Rosen

The country in which the print medium is growing fast in the world is :

(A) United States of America (B) India

(C) France , (D) Canada

In which type of shots does the subject look stronger, imposing, and

authoritative ?

(A) Low angle shot (B) High angle shot

(C) Overhead shot (D) Eye level shot

A person who does not post messages but reads what others write on an online

discussion board is identified as :

(A) Jabber (B) Silent participant

(C) Sleeper-chatter (D) Lurker

T.B.C. : 23/14/ET-III 16
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30. According to Nicholas Negroponte, the World Wide Web is an engine of :

(A) Power equations (B) Public relations

(C) Political preparations (I} Media systems

31, In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

in codes is correct 7

Assertion (A) :Journalists are bound to assist investigations of offences by

disclosing the information that they have collected.

Reason (R) : It is an obligation of every citizen including media persons

under the Criminal Procedure Code of 1973 :

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

() (A) ig true, but (R) is false

(D) (A) is false, but (R) is true

T.B.C. : 23/14/ET-1II 18
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39. Identify the correct sequemnce of the following :

(A) Scene, sequence, frame, shot, film

(B) Film, scene, frame, shot, sequence

(C) Frame, shot, scene, sequence, film

(D) Shot, frame, sequence, SCene, film

33. .Match the List I with List-1I and select the correct answer from the codes

given below :
Listd

(@) dJaya TV
(b) Peace TV
(¢) Enadu TV
(d) Kairali TV
Codes :

(et (&) (¢)
(A (2) (1) (3)
(B) (1) (2) (4)
(C) @ (2) (3)

D)y 3 (4) (1)

T.B.C. ;: 23/14/ET-111
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List-II
Tamil
Urdu
Malayalam

Telugu



32. fTr=fafes =1 W& %5 sasy :
(A) 393, IATHA, BH, v, feew
(B) fwem, v, B, Wi, %0
(C) 4, 7ile, 394, 79%H, fHew
(D) wite, %=, #g%A, 599, foem

33.  gE-1% FE-11 } fram witfee ot 9 3 3 =281 4 @ v s #1 uw st

qot-1 ger-11
(@ v I ' (1)
(b) W= = 2 H|
(¢) Farg &t (3) HerawE
(d) Huet et (4) dF
e

(a) (®) (e) (d)

(A) (2) (1) (3) (4)

(B) (1) (2) (4) (3)

© @ (2) (3) (D

D) (3 (4) (1) (2)
T.B.C. : 23/14/ET-1I1 21 P.T.O.



34. One way news flow leads to :

(A) Modernisation (B) Globalization
(C) Cultural Imperial?sm (D) Morality Imposition
35. Theme advertisements normally contain :
(A) Discount data (B} Emotional appeal
(C) Investment information (D) Colourful slang
36. The process of ;.-mrking on sound after studio production is known as :
(A) Audio fade (B) RCA
(C) Audio boost (M) Audio Sweetening
37. Widow in newspaper production refers to :
(A) Isolated word (B) Useless headline
(C) Bad break (D) Tie-break
38. A rate of decline in response to advertisement is called :

(A) Response decay (B) Staggered response

(C) Response downturn (D) Response entropy

T.B.C. : 23/14/ET-III 22
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39.  When the first and last columns have solid text, it becomes :

(A) Vertical layout (B) Horizontal layout

(C) Circus layout ; (D) Frame layout

40. In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of these two statements, which one of the following

in codes is correct 7

Assertion (A)  The concept of development communication has failed to

take off in India.

Reason (R) : Lack of professional approach and the people’s passion for
entertainment, not development, are responsible for the

situation.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

T.B.C. : 23/14/ET-1II 24
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42,

In the question given below there are two statements labelled as Assertion
(A) and Reason (R). In the context of the two statements, which one of the

following in codes is correct 7

Assertion (A) : Public relations as a profession cannot practice the code

of Athens always.

Reason (R) : The prlufesai:m demands that the practitioners have to assess
the assigned task carefully and devise suitable strategies
accordingly.

Codes :

(A} Both (A) and (R) are true

(B) Both (A) and (R} are true, but (R) is not the correct explanation
of (Al

() {A) is true, but (R) 1a false

(D) (A) is false, but (R) 15 true

In the question given below there are two statements labelled as Assertion

(A) and Reason (R). In the context of the two statements, which one of the

following in codes is correct ?

Assertion (A) ¢ Local content dominated local editions of large newspapers
have reduced them to be local newspapers in reality.

Reason (R) : Modern technology and commercial considerations are
responsible for such a trend in Indian journalism,

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation

of (Al
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

T.B.C. : 23/14/ET-III 26
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43.

Match List-I with List-1I and select the correct answer from the codes given
below the lists :

List-I List-11
(Founders/Editors) (Newspapers)
{a) Annie Besant {1) The Statesman
(b} Thomas J. Bennet- (#)  Forward
(¢} Robert Knight (3) New India
(d) Chittaranjan Das {4) The Times of India
Codes :

(A}
(B)
(C)
()

(a) (b} (e) (d)
(2) (1) (3) (4}
(3) (1) (2] (4)
(3} 4 - (1) (2]
(2) (3) (4) (1)

Match List-I with List-II and select the correct answer from the codes given
below the lists :

List-I
{(Models)
(@) Model of Mass Communication
Processes
(b} Cognitive Dissonance Theory
(¢} Dependency Model of Mass
Communication
(d) Psychological model of television
effect
Codes :
(er) (&) (e (d)
(A) (2) (3] (4] (1)
(B} (4) (3} (2) (1)
(C) (2) (4) (1) (3)

(D)

(3) (1) (2] (4)

T.B.C. : 2314/ET-11I 28
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(2} Ball-Rokeach & Defleur
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45. The social responsibility model of media developed along with the

growth of :

{A) Mixed economies

(B) Capitalist societies

(C) Socialist societies

(D) Dictatorial regimes
46. Composite, component, RGB are the forms of :

{A) Batellite signals (B) Video =ignals

(C) Audio signals (D) Studio signals
47. The book, ‘Bias of Communication’ was written by :

(A) Harold Innis (B} Herbert Gans

(C} D.R. Leduc (D) J.H. Bover
48,  The universal model of communication will have :

(A} Bix components (B} Five components

(C) Four components (D) Three components
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485,

(D) TETIET WO &

i, Feite, s fred TER § 2

(A) 9 HEd (B) ifed Haa
() ffed o4 (D) =fed 554
“u A% FRREYR TE TeE e fot o 2
(A) e 3w (B) ¥&< M

() BN T=gF (D) H.wa. F
oy £ dfrgs dem § T ow=E dn ¥ 2

(A) BF 9ZH (B) WH =H

(C) =R TEE D) " T2
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When media companies are owned by non-media business houses, it is

called :

(A) Chain ownership

(B) Joint stock nwne;ship

(C) Conglomerate media ownership
(D) Business ownership

The Westley and McLean Model of communication identifies.......ooovvvveonnnn, role

of the receiver.

(A) The advocacy

(B) The environmental

(C) The gatekeeper

(D) The behavioural

The communication channels are kept open by :

(A) Remcr;:ing ownership (B) Proactive access

(C) Phatic function (D} Emotive function
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49, wm difem wofel frn-difeo =i =@l & =fae & ot £ @ 3% o3
E i

(A) FEen @i

(B) wh= =lw =i

() wrdme tfem Tt
(D) =i T

50.  rezeh qun dEeie wAT wtaw W wY P ) S (Tee )

EraGii g
(A) &S
(B) wafEia
(C) BR-1&F
(D) =AERITE
51, TOR # UW f5Q9 wen GE @ W B 7
(A) e BT (B) WfeFa Ier=aa &

(C) H9F TIT TEHT (D) wEeas ai% 9
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52. The first International Convention related to Copyright was held at :

(A) Berne (B) London

(C) Geneva . (D) Rome

53. The positivist paradigm, adopted by researchers in Mass Communication, makes

a liberal use of :

(A) Descriptions (B) Fictional narratives

(C) aesthetics (D) Quantifications

54. The Arabic television channel Al-Jazeera has its headquarters at :

(A) Cairo (B) Tunis
(C) Doha (D) Muscat
55. Editing in newspapers means the removal of..........c.cccoee. in writing.
(A) Articles (B) Fog
(C) Atmosphere (D) Treatment
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52. wfdNEZ ¥ Wetvd wuW ey mEer fetates § @ w1 smafas e o 2

(A) A (B) A

() fam : (D) Tw

53. THEER H SEUREAl gN HTAE WA T W ey H freferiea 7 | fewmt

= 9 IEm 5w oI ¥ 7

(A) fa=m ' (B) wwaft® I99

(C) T4 (D) ATsTeHE

54. o] TefoeE UAE S-S0 o qEed e 5

(A) = (=FfE) (B) =gfF=

(C) = (D) A&
T S S oo

(A) &= (B) Huar

(C) SE (D) 2

T.B.C. : 23/14/ET-11I 35 P.T.O.



56. The largest advertising agency of the world is :

(4) J. Walter Thompson

(B) MacConn-Erikson Worldwide

(C) Ogilvy & Mather Advertising

(D) WPP Group

BTo: asssusvansmassessssvesissniss can be called as presentational media.
(A) Magazines (B) Newspapers
(C) Teletext (D) Body Language

58. An economy dependents upon selling and purchasing goods and services besides

advertising to create a climate of purchases is supposed to promote !

(A) brand names (B) sale society

(C) consumer culture (D) advertising environment

50. The systems theory of public relations is described as a set of united :

(A) Pressure groups (B) BSubsystems

(C) Employee systems (D) Production systems
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56. fova =1 wad =31 faums o freafafes & § 9 & 2
(A) 3. TR GIEA (B) Hwsr-TfEad aedans
(C) Afedl Toe MR Teaenfsm (D) sy L. 7o

57. 7 frfafea 3 @ 58 wagdie 9ma difsw # &7 § o7 6 ¢ 7
(A) ufsmt (B) WHNER-TH
©) s (D) wrifsw s

58. WT & IEEIY & 9GR F & fou fagws @ wg-wg 9 ik Jaeit it fawt

IR @it W I sderas = frafafas 3 ¥ fFae W= & 3 § 2
(A) wE ™ (B) fat 5ot
(C) IuviiE HEpia (D) fogmea amE
59. uuR &1 ey fag fefafes & ¥ $ w9 sa@ ™ %
(A) WR ¥ (B) SysFeRdl

(C) FHIW =TI (D) ISNREA =HFE
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60.

61.

62.

63.
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Identification and analysis of situation, problem and offering solution to achieve

organisational objectives will come under :
(A) diplomacy (B) Crisis management
(C) Strategic communication (D) Community relations

The commercial broadcasting wing of AIR, Vividh Bharati, was started as

a counter to :

(A) Voice of America (B) BBC

(C) Radio Ce_:ylon (D) Radio Moscow

What do the semiotics and semiology mean ?

(A) Both mean analysing of signs

(B) Semiotics is theory and semiology is the interpretation of that theory
(C) Semiotics studies signs while semiology creates models

(D) Semiotics studies signs while semiology studies symbols

When media audience derive different meanings from the same text, the

message is considered :
(A) Polysemic (B) Denotative

(C) Connotative (D) Contrived




60,

61.

62.

frafs, gaem = wAfufiuio i favemm R SreaeTs 329l ®1 diEg FE F
T wegd s e 8 8 fems e smom 2

(A) Tl (B) T®e WA

(C) TorifamE wiem (D) HrEETEs Hay
aﬁrﬂaﬁﬁwmﬁmmﬁmﬁﬁamﬁﬁﬁhﬁaﬂﬁﬁﬁmﬁuﬁﬁﬁ%
w0 4 9w fEan w9

(A) dfgg offm et (B) =it

(C) ear fasi (D) e arew

vimfaTm v wiemmEm @ 7 oaed ¥ 2

(A) TH = A HEal ® favemm ¥

(B) Witsfawm % fogi ¥ oiR wierm=w 30 fogm #1 fe=A ¥

(C) Wifaem B T F1 wwEd fEa o §, T4y § Aie| fan
fey =1 €

(D) vawfasm § HFd = oegmd few o %, oEfe wdemrawa § W w0

wvggE T o B

e TF # U R dfewm w ewm-swm wd mew w5 §, 39 wen = frefaten
% F T OOy A g ?

(A) Sl (B} THewmeas

(C) Tmew (D) @Afa=R
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In the cases of defamation, the term ‘Manipulation’ means :

(A) Rumour (B) Propaganda

(C) Abuse (D) Allegation of fact
Metonyms are power conveyors of :

(A) Myth (B) Morality

(C) Creativity (D) Reality

In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

in codes is correct ?
Assertion (A) : Folk media are now museum artefacts.

Reason (R) :  They are unable to survive against the power of technology

propelled mass media.
Codes :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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AE H W ¥ ‘se-wee’ = aed € ?

(A) A TR (B) WK

(C) el S : : (D) WY T
PR frm 9 § frad avEsTEr YU ¥ 2

(&) fags (B) ferepen

(C) oIl (D) A=

frerifEd we B 2 HAH, e (A) 7 7% (R) ' M #) SN wwe & wed
F freforfen w2 % ¥ SR w0 9§ 7

ARIEAT (A) : AF TEAE e GUEEE S He WF ® @ E

T R) : EHETE S F U @ e 7 w7 e

we

(A) (&) 3R (R) & ¥ ¥

(B) (A) 3R (R) & =& ¥ o (&) F W WEEW (R) T 8
(©) (&) W& & AfFF (R) T ¥

(D) (A) TEE & AfFA (R) ¥ F

T.B.C. : 23/14/ET-III 41 P.T.O.



67. Motilal Ghosh was associated with :

(A) Anand Bazaar Patrika (B) Amrit Bazaar Patrika
(C) Jana Shakti (D) Gana Shakti
68. For Roland Barthes, myth is a system of :
(A) Conirasts (B) Morality
(C) Precepts (D) Communication
69. A Jump Cut ;s an editing technique that is employed :
(A) at the end of a shot (B) in between two scenes
(C) within a scene (D) in between two sequences
70. Separation of a programme signal from the carrier wave is :
(A) Modulation (B) Demodulation
(C) Co-modulation (D) Clear modulation
71. The concept of Stereotypes was advocated in mass media by :
(A) Michael Foucolt ~ (B) Walter Lippman

(C) William Raymonds (D) Robert Herman
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67.

68.

69.

70.

71.

At e frfafer § @ PR IR W A 2

(A) =T TR 9fEeH (B) ¥Ma dER Ui
(C) w7 vfF (D) 7o wfer

etz @d @ fo dRfm feee womeh ¥ 2

(A) fadensm (B) WEHER

(©) frm D) W

mmwt@@mmtmmﬁﬁmmmﬁm

A g ?
(A) Wi & 3@ H (B) T g¥d & 94 H
(C) 398 & A | (D) ¥ A=A &% "HA H

B 49 ¥ ol sdEn & foma 1 9% w0 €

(A) wiegeR™ (B) fenfegawm
(C) F-HieH (D) @ HiEgeyH

‘FfdrrE’ #1 FEYR W9 OAE % 99 7 fEet any # 2
(A) oo &= (B) awR fawdm

(C) fafermm e (D) T2 g4
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72.  Identify the correct chronological order of the following books ;

(A)

Mass Media and National Development; The Political Economy of Growth;
Communication for Development : One World, Multiple Cultures; The

Internet Galaxy

(B) The Internet Galaxy; Communication for Development : One World,

(C)

(D)

Multiple Cultures; The Political Economy of Growth; Mass Media and
National Development

Communication for Development : One World, Multiple Cultures; The
Internet (zalaxy; Mass Media and National Development; The Political
Economy of Growth

The Political Economy of Growth; Communication for Development : One
World; Multiple Cultures; The Internet Galaxy; The Mass Media and

National Development

73. In the question given below are two statements labelled as Assertion (A) and

Reason (R). In the context of the two statements, which one of the following

in codes is correct ?

Assertion (A) : New Media has a negative impact on the writing skills of

the new generation.

Reason (R) : New Media has altered the art of writing.

Codes :

(A)
(B)
(C)
(D)

Both (A) and (R”.I; are true
Both (A) and (E) are true, but (R) is not the correct explanation of (A).
{A) is true, but (R) 15 false
(A) is false, but (R) is true

T.B.C. : 23/14/ET-111 44
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73.

frefafen o= =t wdEs 8§ =)

(A) HAE Aifgm U2 9He S9a9he, § Welf<hal FhAEN HF WY, FTHTE T

AT : 99 deg, Aleeud Food: g T20ie Tl |

(B) T T2 ol Ffqeye R 2w ; 99 9o, Aeeiid ®owd; § uifefesa
TERE #F Ty, TR d@ifew 2 Avee faehe

(C) FHfAEYR TR TIe0Ee : 99 502, AeeiTH Tead; © 12T el A wite
Tz 77w Saoivie; © Uieiesd THAE 3% W9

(D) T difefesa swAE fE 19, FHAHE $R S9a9H2 99 Fvs, S
Foas: § TE0R ToEEl, § AW Hifed Uz Ed e,

fa=ifea wge § €1 wee, afiyswes (A) a9 9% (R) B3 & ) 26 sl & d@ey
H Fofefes =21 4 @ w99 59 W@ § 27

mw:ﬁmmm%ﬁ%ﬁﬁﬂﬁmﬁmwmmmh
T (R) : 7@ mngm (Hifgan) J @@ w1 w5 %1 95a fgm 2

T

(A) (A) ¥R (R) 3 =& &

(B) (A) #fR (R) i wél & oA (A) =1 & wE= (R) & B

(©) (A) W@ g, wfFEF (R) Tom ¥

(D) (A) T & @A (R) §8 &1

T.B.C. : 2314/ET-1II 45 P.T.O.



74.  Mateh List-I with List-IT and select the correct answer from the codes given

below :
List-I

(Films)
(e} Aradhana

(b) Pyasa

(¢) Umrao-Jan

(d) Black
Codes :
(@)
(A) (3)
(B) (1)
(Cy (2)
(D) (4)

(b)
4}
2

3

1
3)

e e

(
(
(
(

(e)
(1)
(3)
(4)
(2)

(ef)
(2)
(4)
(3)
(1)

List-II

- (Heroines)

(1} Rekha

(2) Rani Mukherjee
(3) Sharmila Tagore
(4) Waheeda Rehman

75.  Match List-I with List-II and select the correct answer from the codes given

below :
List-I

(@) Matrubhoomi

() Dinamalar

(¢) Sadhana
(d) Dharitri
Codes :

() (b)
(A) (3) (2)
(B) (4) (1)
(C) (2} (3)
D (1) (4)
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(1)
(3)
(1)
(2)
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List-TI

(1) Odisha

(2) Kerala

(3) Tamil Nadu
(4) Gujarat



74, -1 F gE-11 F Wy ghtew wifee 3w HN el W 5 4 'l IR W w

(e}
(1)
(3)
(4)
(2)

(e}
(2)
(4)
(3)
(1)

-1
(R )
(1} T@n
(2) T T
(3) yreten TR
(4) wER TEEA

75.  gE-1 9 G-I & 9 Efaa witeg ao = 7w 52 3 9 1@ s e

FIMAY

-1

(ferem)
()  SATTEAT
() @
(¢) ZFHOE M
(d) =%
o

{ex) (b)
(A) (3) (4)
(B) (). @
(C) (2) (1)
(D) (4) (3)
Hifee :

-1
() HRHYE
(b) ETATHIEN
() HIEA
() enfl
E T

(e (b)
(A) (3) (2)
(B) (4] (1)
(C) (2) (3)
(Dy (1) (4)
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(e}
(4)

(2) *

(4)
(3)

(el
(1)
(3)
(1)
(2}

wei-11
(1) =Afgw
(2) &
(3) afEETg
(4) TEEE
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